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Plurality method says that the candidate with the most first-place votes wins.

This is an extension of the majority rules principle. This principle applies when there are only two candidates.

Plurality method fails to select a winner that is representative of the population as a whole because it only looks at preferences for first place.

The solution is a head-to-head comparison.

1. Draw a chart with a row and a column for each candidate.

2. Block out head-to-head for same matches (along the diagonal).

3. Each cell represents a head-to-head comparison.

	
	Winner

	
	Red
	Green
	Blue

	Loser
	Red
	XXX
	
	

	
	Green
	
	XXX
	

	
	Blue
	
	
	XXX

	Totals:
	
	
	


4. In each cell, record the winner and points earned in the head-to-head comparison. Do this by examining each column in the preference table. The candidate with the highest preference earns the number of votes for that column. Tally the votes earned for both candidates of the head-to-head comparison. The candidate with the most votes wins that head-to-head comparison.

5. Tally all votes from the chart for each candidate. The candidate with the most votes, thus the most head-to-head wins, is the winner.

The Condorcet Criterion

The winner of a head-to-head comparison should be declared the winner of the election.

It may happen that the candidate with the most number of first-place votes (plurality) will not win the election.


